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QUESTION BANK (MATHEMATICS)

CLASS — IV CHAPTER 3- ATRIP TO BHOPAL

Q.1.

10.

Q.2.

Q.3.

Q.4.

Q.5.

Q.6.

Q.7.

Q.s.

Q. 9.

Q.10.

Fill in the blanks

3840+ 1=

26+32+44=__  +26+_______
695-_ +0

9869 + 1=

100 less than 5965 =

10 more than 2986 =

327 +401+9+13=

A book costs Rs. 22 so the cost of 10 books will be Rs.
Greatest 5 digit number is
Smallest 4 digit number is

A school is going to Bhopal for a trip. The students of different classes will be going. One bus
can carry 50 children so find out how many buses are needed for 200 children?

If cost of 100 litre diesel is Rs. 3500 then find out the cost of 5 litre diesel and 10 litre diesel.
How many people can sit in 8 buses if 1 bus can carry 35 people?
What numbers can you make using the digits 4,6 and 9?

I gave 3 balloons each to 5 of my friends and 5 balloons are left with me. How many balloons
did I have?

A bus can carry 65 passengers. So 15 buses can carry how many passengers?
Subtract and check your answer by addition

1. 69,758 - 42,631 2. 10,000 - 9,549

Subtract 9,403 from 10,000.

There are 210 children went for a trip. For lunch oranges, biscuits and bananas are also
distributed. Each child is to be given 1 orange, 1 banana and 5 biscuits. 30 children do not take
bananas. Find out how many oranges, biscuits and bananas are distributed? Also find out total
number of things distributed in all?
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